4< How to complete subtraction sentence up to 3-digits )7

Complete each expression belo

165 |- 27 = 138 ii. 260 -128 [=1132
60 -7 =132
?-P7 13 et’s add ? to both sides of the equation
Let!s add 27 to both sides of the equation to find ? 60 - P+P=1132+7
? -| 271+ 27 =138 + 27 Now, to find ?, let’s subtract 132 from both
1 8 sides of the equation
60 -132 =132 + 7 - 152
1 6/5 1 38
So, the.complete expressionlis 162 - 27 =138 - 217
65

o, thelcomplete expressionlis 260 - 128 =132

Nz - = 101 ol = 150 =[12] d. - 496 = 229
310 - = 244 f 601 - = D33 g - 762 = 138
100 = 114 i 320 - = 311 j 818 - =74

- 7 = 496 I 900 - = 200 m - P50 = {550

- 100 = 596  1B00 | = 300 p. - 750 = 350
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4\ How to complete subtraction sentence up to 3-digits 17
Complete each expression belo
a 1651|- 27 = 138 i 260 1128 |=1132
60 -? =132
?-P7 %13 et’s add ? to both sides of the equation
Let's add 27 to both sides of the equation to find ? 60 - P2 +P=132+7
? -1 271+ 27 =138 + 27 ow, to find ?, let’s subtract 132 [from both
1 8 sides of the equation
+ 7 60 -132 =132 + 2 - 132
165 138
So, the.complete expressionlis 162 - 27 =138 - 217
615
o, thelcomplete expressionlis 260 - 128 =132
b. 117 -1 16 | =/10] c. | 271(-[ 150 | =121 d. 725| 1 496 = 229
e 310 -| 66 |[= 244 f 6Q1 -{368| =1233 g 900|- 762 = 138
h 214 |- 100 = 14 i 320 - 9 |= 31 | 818 -I[| 69 |= 749
k 503 7 = 496 | 900 -|700| = 200 m 800 250 = BH50
n. |6961]- 10 = 596 . 1500 =1200|=1300 p. 1,JO0|-_[75 = 350
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